rstandard(badfit, type = "sd.1")

Residual plot for bad tree fit
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rstandard(heightfit)

Residual plot for daughter height based on both parent heights

o
o
o
o
o
o o
o o
o o °
o o o
o ° o ° o
o o
° OO o
] o
o @, o
% ©® © 0 © o
° o
o
o ° Qbo @ o °
o ° o
o o O o [¢]
o o0
o o oo ° o
<) o
= o o o °© o % @, o ©
° % X % %
o o ® o
o o o °
o o [o]
O o @ ° °
Q)O 0 © o
o o © o
o o
o
—] o o o
° o
o
o o o °
2 o © °
%
o
o
o
o o
o
o
o

fitted(heightfit)




JIStandardized residuals|
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JIStandardized residuals|
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Standardized residuals

Normal Q-Q
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Im(log(Volume) ~ log(Girth) + log(Height))




Studentized Residuals(logfit)

Normal Quantile Plot via qqPlot
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Sample Quantiles

Normal Quantile Plot via studres and qgnorm
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Studentized Residuals(myfit)
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resid(smallerfit)
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PRESS residuals for tree data

_
GT0

_
0T0

_ _ _ _
S0°0 000 S0°0- oTo-

(.paid, = adA ‘nboj|)prepuess.

a1 0-

0¢’0-

30

25

20

15

10

Index

Log fit



